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Solving Trig Equations WS #3

     

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 360360360360.

1)  

 

−2sec

   

θ  = 

 

−6 + 

 

sec

   

θ 2)  

 

2 − 

 

9cot

   

θ  = 

  

−3 3 + 2

3)  

 

−5tan

   

θ  = 

 

3 − 

 

2tan

   

θ 4)  

   

4 3 + 4 + 

 

csc

   

θ  = 

 

4 + 

 

7csc

   

θ
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5)  

 

4 + 

 

5csc

   

θ  = 

   

2 2 + 4 + 

 

3csc

   

θ
6)  

 

4 − 

 

tan

   

θ  = 

   

12 − 

 

3

3
 − 

 

2tan

   

θ

7)  

 

2 − 

 

2sin

   

θ  = 

 

3 + 2 8)  

   

−2 2 + 4 + 

 

sin

   

θ  = 

 

4 + 

 

5sin

   

θ
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Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 

 

2222

     

ππππ.

9)  

 

3 + 

 

2cos

   

θ  = 

   

6 + 2

2
 + 

 

cos

   

θ 10)  

  

−
5

2
 ⋅ cot

   

θ  = 

  

1

2
 − 

 

3cot

   

θ

11)  

  

−4 2 − 3 = 

 

−3 + 

 

4sec

   

θ
12)  

 

3 + 

 

3cot

   

θ  = 

 

3 + 

  

7

2
 ⋅ cot

   

θ

-3-



©f o2z051I4U 2K5uWt4aX vSPoOfCtywvaTrQei ZLgLMCD.3 A iA2lSl7 6rBi6g8h7tgs6 TrRe1syetrVv7eHdv.Y C 9MeahdWe3 fwZirtVhX vIZn0fGitnSiTt5ek 8AWlhgcePb6rOap d20.k Worksheet by Kuta Software LLC

                

13)  

  

2 3 − 2 = 

 

−2 + 

 

6cot

   

θ 14)  

 

1 + 

 

9tan

   

θ  = 

   

−4 3 + 1 − 

 

3tan

   

θ

15)  

 

4 − 

  

7

2
 ⋅ tan

   

θ  = 

 

4 − 

 

3tan

   

θ
16)  

 

3 − 

 

10sec

   

θ  = 

   

8 3 + 3 + 

 

2sec

   

θ
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Solving Trig Equations WS #3

     

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 360360360360.

1)  

 

−2sec

   

θ  = 

 

−6 + 

 

sec

   

θ

{60, 300}

2)  

 

2 − 

 

9cot

   

θ  = 

  

−3 3 + 2

{60, 240}

3)  

 

−5tan

   

θ  = 

 

3 − 

 

2tan

   

θ

{135, 315}

4)  

   

4 3 + 4 + 

 

csc

   

θ  = 

 

4 + 

 

7csc

   

θ

{60, 120}
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5)  

 

4 + 

 

5csc

   

θ  = 

   

2 2 + 4 + 

 

3csc

   

θ

{45, 135}
6)  

 

4 − 

 

tan

   

θ  = 

   

12 − 

 

3

3
 − 

 

2tan

   

θ

{150, 330}

7)  

 

2 − 

 

2sin

   

θ  = 

 

3 + 2

{240, 300}

8)  

   

−2 2 + 4 + 

 

sin

   

θ  = 

 

4 + 

 

5sin

   

θ

{225, 315}
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Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ  <  <  <  < 

 

2222

     

ππππ.

9)  

 

3 + 

 

2cos

   

θ  = 

   

6 + 2

2
 + 

 

cos

   

θ

      

{

     

π

4
, 

   

7

  

π

4 }

10)  

  

−
5

2
 ⋅ cot

   

θ  = 

  

1

2
 − 

 

3cot

   

θ

      

{

     

π

4
, 

   

5

  

π

4 }

11)  

  

−4 2 − 3 = 

 

−3 + 

 

4sec

   

θ

      

{

   

3

  

π

4
, 

   

5

  

π

4 }
12)  

 

3 + 

 

3cot

   

θ  = 

 

3 + 

  

7

2
 ⋅ cot

   

θ

      

{

     

π

2
, 

   

3

  

π

2 }
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13)  

  

2 3 − 2 = 

 

−2 + 

 

6cot

   

θ

      

{

     

π

3
, 

   

4

  

π

3 }

14)  

 

1 + 

 

9tan

   

θ  = 

   

−4 3 + 1 − 

 

3tan

   

θ

      

{

   

5

  

π

6
, 

   

11

  

π

6 }

15)  

 

4 − 

  

7

2
 ⋅ tan

   

θ  = 

 

4 − 

 

3tan

   

θ

  

{0, 

  

π}

16)  

 

3 − 

 

10sec

   

θ  = 

   

8 3 + 3 + 

 

2sec

   

θ

      

{

   

5

  

π

6
, 

   

7

  

π

6 }
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